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You have been called for the written test based on the online data furnished by you in the web application, If
ou have wrongly entered in the web any information or you do not possess the required
ualification as per our advertisement, your candidature will be rejected.

2. VHHE, Uy & U H 04 YT, TER UG, ), iR Y, F Wy B | uldE W H so vt w9y
T 200 UH & 3R Uien F a@fdy 2 6 B

The Question paper is in the form of Question Booklet with 04 parts viz., Part-A, B, C & D with 50 questions
in each part totaling to 200 questions and the duration of the test is 02 hours.

3. O fawet Tfea aRgs veR & uy €17, e A Rrb ue eriftw wud wdi g

The questions will be objective type with four options out of which only one will be unambiguously correct.
4, TR UY % AT 01 3 I 3R U TTeTd ST & 1T .25 Sl HieT S|

Each question carries 01 mark and .25 mark will be deducted for each wrong answer.
5. IR & Rwa siftra F & g Frd ot wia 9k s SiuwsiR IR gk & i)

A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. 3O ATel/BTeH TGt F SId Use HAH ¥ AR IR-GRIST & el sHiaa o sifea H2 9
IR B 90 HT 8|

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
bluefblack ball point pen.

7. TP U & [T 3Md IR TTed THT S|
Multiple answers for a question will be regarded as wrong answer.

8. W TN HIH A gty uy YR #is, SiudeR IR GiRTwT # 6 715 98 W forar s =ifgu

Question booklet code printed on the top right comner should be written in the OMR answer sheet in the
space provided.
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Enter your Name and Roll Number correctly in the question booklet.

MR IRy # @bt wiaidat et wardl & afe uge Taw 4 8 @ 9 =il
All entries in the OMR answer sheet should be with blue/black ball point pen only.

Tden gia ¥ e 3t sufufy 8 € e gfd-feee W gwmar H3 Irieul

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

fufRa uflan sertard s ¥ 3R Py, PrAPAer, HNE BT Ul 369 FARITE
u1ed- Hie anfe am @t f | T

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not
be allowed inside the written test hall.

e guf @9 IR, STHRIR ITR-YRIHT H SR & Ve g I 1 iR ga AR Iw-gfkier
ﬁﬁwquafﬁﬁ[ﬁammgﬁramﬁumrﬁl S

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

TY-gfRre st S o v 9d 31
The question booklet can be retained by the candidates.
udtan ¥ wum ©e F ERE nafifl Y when gfd Bie ot sigafa e ]

Candidates are not permitted to leave the examination halt during the first hour of the examination.
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PART-A: HINDI LANGUAGE & GRAMMAR
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T - HrAET 3Esh
PART B: GENERAL ENGLISH

51. Which word means ‘a feeling of sadness mixed with pleasure and affection when you think of happy times in
the past'?
(a) recollect (b) nostalgia (c}) enjoyment (d) pleasure

52. Which word is a synonym of ‘reflected'?
(a) burdened (b) considered (c) pondered (d) indulged

53. What is the synonym for ‘cynicism'?
(a) pessimism (b) belief {c) faith {d) critique

54. The term ‘Corrigendum’ means?
(a} correction in a book {b) gender of author (c) in this book  (d) None of these

55. Which word is a synonym of ‘messengers'?
(a) harbingers (b) predecessors (c)indicaters  (d) initiatives

56.  The ancient Indian sages were intuitive and generous. The same sentence in exclamatory is...

(@) How intuitive and generous were the ancient Indian sages!
(b) How intuitive and generous the ancient indian sages wers!
{(c) How intuitive ancient Indian sages were generous!

(d) what a intuitive and generous the ancient Indian sages!

57. .......atelephone call, the teacher turned up for extra class.
(a) having got (b} being got {c) having been got (d) had got
58. The teacher and student stood.......... each other as they shook hands with the guests.
(a) beside (b) with (c) at (d) besides

Find the proper meaning of the Idioms below?

59. Wet behind the ears
(a) skillful {b) young and rich with experience
(c) young and without much experience (d) hearing impaired

60. fo bite off more than you can chew
(a) to take on a commitment one cannot fulfil
(b) to grab a share more than what one rightfully deserves
{c) to hog more than what one needs
(d) a greedy person can easily be identified from the way one eats



61. Spilling the beans
(ajrevealing secret a unintentionally or indiscreetly (b)throwing things in disarray
(c) having too-many problems (d) None of these

Choose the word that is opposite in meaning

62. Audacity

(a)Cowardice (b} slow {c) Loud (d) None of these
63. Bleak

(a) grim (b) bright (c) colorful (d) None of these
64. Brittle

(a) Tough (b) breakable (c) A type of bug (d) None of these

Find mis-spelt word

65. (a) Semester (b) Senesent (c) Sensory (d) Salacious
66. {a) Opulence {b) Offens {c) Nonsense (d) Occurrence
67. (a)Knack {b) Knee {c) Kneed {d) Kneel

Find the carrectly spelt word.

68. (a) Rasteraunt {b) Restaurent {c) Rastaurent (d) Restaurant
69. (a)Vetniary (b) Vetarinary (c} Veteninary (d) Veterinary
70. (a) Hinarary (b} ltenerary (c) ltinerary (d) ltinarery

Active and Passive Voices

71. Rain disrupted the last day's play between India and Sri Lanka.

(a) The last day's play of India and Sri Lanka was disrupted by rain.

{b) India and Sri Lanka's play of the last day was disrupted by rain.

(¢) The last day's play between India and Sri Lanka was disrupted by rain.
{d) The last day's play between India and Sri Lanka were disrupted by rain.

72. The teacher punished the boys who had not done their homework.
{a) The boys who had not done their homework had been punished by their teacher.
(b) The boys were punished by their teacher who had not done their homework.
(c) The boys who had not done their homework were punished by the teacher.
{d) The boys who had not done their homework were being punished by the teacher.



73. Someone gave her a bull dog.
(a) She was given a bull dog.
(b) A bull dog was given to her.
(c) She has been given a bull dog.
(d) She is being given a bull dog by someone.

In each of the following questions, four alternatives are given for the phrase in the sentence. Choose the
one which best expresses the meaning of the phrase underlined.

74, The promotions were granted across the board.
(a) to those sitting diagonally opposite {b) to thase working for the other board
(c) selectively with a few exceptions (d) to all without exceptions

75. The old man was cut to the quick when his rich son refused to recognize him.
(a) imitated {b) annoyed (c) surprised (d) hurt intensely

76. He dashed off three letters in ten minutes.
(a) wrote (b} went through (c) packed up (d) dispatched

77. Being an introvert, he will only eat his heart out.
{a) eat too much (b) keep brooding (c) invite trouble (d) suffer silently

78. Though he has a lot of money, yet all his plans are built upon sand.
(a) based on inexperience (b) resting on immature ideas
(c) resting on cheap material (d) established on insecure foundations

79. Itis time that government seized the nettle and stopped parleying with terrorists.
(a) seized properly (b) overcame the difficulties (c) got hold of (d) deailt firmly

In each of the following questions, choose the most suitable “one word” for the given expressions.

80. Mania for stealing articles
a) Logomania b) Nymphomania ¢) Kleptomania  d) Hypomania

81. A person living permanently in cerain place
a) Native b) Resident ¢) Domicile d) Subject

B2. One who cannot die
a) Stable b) Immorial ¢) Perpetual d) Perennial



Pick out the most effective word from the given words to fill in the blank to make the sentence
meaningfully complete.

83. Since one cannot read every book, one should be content with making a ........... selection.

a) standard b) sample ¢) moderate d) judicious
84. Hehasgood........... over the famous world languages.

a) expertise b) hold ¢) command d) knowledge
85. Theaccused .......... to the judge for mercy.

a) applied b) demanded c) appealed d) requested

In each of the following questions, on incomplete statement followed by some fillers is given. Pick out

86. Unless you work very hard, ..........
a) you ought to be successful b) you be not successful
c) you are not being successful d) you wilt not be successful

87. To succeed in difficult task, ..........

a) one needs to be persistence b) persistence is needed
c) you need a person of persistent d) one needs to be persistent

88. Ishallseehim...........

a) before [ shall leave for England (b) before | leave for England
c) before | have left for England d) before | would be leaving for England

Give the correct meaning of the following Idioms/phrases

89. Rome was not built in a day
(a) work getting delayed {b) Important work takes time
{c) Need to complete work on time {d) None of these

90. Cook someone's goose

(a) Stealing other’s property (b)Spoil other person's chances of success
(c) harming other’s (d) None of these
91. On thin ice
(a) in a precarious situation (b) in a cold situation
(c) being in a situation without water {d) None of these



Fill in the blanks

92. Hedepends .......... his skills ........... aliving.
(a) On, for {b) for, on
93. | save money .........never smoking.
(8)in {b) at
94. Shyam has no friends................ me.
(a) beside (b) besides

95. Do you mind ......me your pen to sign this form?
(a) giving (b) given

96. Which part of the sentence is wrong
(a) Hardly had (b} | entered the temple

97. The singular form of data is

{a)Date (b) data
98. Plural form of Index is
(@) Indices (b} Indice
99, Plural of Half is
(a) Halves (b) Halfs
100. Singular form of word 'Media’ is
(a) mediums (b} medium

{c) of, in (d)in, for
{c) by (d)on
(c) between (d) among
(c) give (d) gave
(c) when the mobile (d) had started ringing.
(c) datum {d) datae
{c) Index (d) none of these

(c) Full (d) None of these

{c) media (d) mediator

ar H - AEICHS ATRATHGT YT 9 A

PART C: QUANTITATIVE APTITUDE & GENERAL KNOWLEDGE

101. 45 *? = 35% of 900
(a) 6 (b) 7

() 9 (d) 4

102. U iY@ty &7 §. 45000 F A9 9T UF =ATFA F 10% F €T B ar B afg 3/ 15 %

T 1 e g, ar IREu # AT qe Ad F:l
By selling a property for Rs 45000 a person incurs a loss of 10%. Find the selling price to

gain the profit of 15 %?

(@) 55000 (b) 60000

{c) 57500 (d) 58000
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103. OF <G 5 TUC # 4 a6 A & ¥ T awqU GSAT § a0 3 4 O A 5 gt
FeT ¥ ATA §) Tl A AT @A % A A F
A person purchases some article at the rate of 4 articles for rupees 5 and sells them at the
rate of 5 articles for rupees 4. Find the total profit or loss in %.
{a) 22% WTd/profit (b) 20% gfet/loss
(c) 40% & profit (d) 36% grfa/loss

104, 2 AR ast F 3T & Ao FAUA: 2:3 ¥l FA% ;G H FANMT 5:9 ¥ qEY T K
T T 45000 FAT G A A =T 3. 25000 &1 2l at F FaE T FH9T AT F

The ratio of income in two consecutive years is 2:3 respectively. The ratio of their
expenditure is 5:9. Income of second-year is Rs 45000 and Expenditure of first-year is Rs
25000. Find the Savings in both years together.

(a) 5000 (b) 7000 (c) 6075 (d) 8025

105.0% cafdd &, 99 @ #R @ e gfai 4:3: 2 & ¥qud # a7 | ¢ 93 #
Wl:2:4uﬁfﬁaﬂf.%uﬂ$$mﬁgﬁrma 720 1 3 & g F FT H o
T AT S

A person covers the different distances by train, bus, and car in the ratio of 4. 3: 2. The ratio
of the fare is 1: 2: 4 per km. The total expenditure as a fare is Rs 720. Find the total
expenditure as fare on the train.

(a) 140 (b) 150 (c) 160 (d) 170

106. T 20 T fAsor F 30% e aur 70% AT B afg faor F 5 e ol e
A & ar Av fRsvr F dedga w1 giand fhaer g

A 20 liter mixture contains 30% alcohol and 70% water. If 5 liters of water is added to the
mixture, what will be the percentage of alcohol in the new mixture?

(a) 22% (b) 23% (c) 24% (d) 25%

107. 60 X g T T F Fmor F 10% wehr §1 Paor F AR feaer ol fAenr Sme R
SUH e 20% g S

A 60 liter mixture of milk and water contains 10% water. How much water must be added to
make water 20% in the mixture?

(a) 8 &icWliters  (b) 7.5 AMWliters (c) 7 #eTliters (d) 6.5 AWliters

108. U FAHYTY A 14 00T fea T 100 ST dier ¥ Rwug d R o gforra feeew @

An alloy contains14 parts of tin and 100 parts of copper. What is the percentage of tin in the
alloy ?

(a) 12.3% (b) 13% (c) 11.5% (d 11%

109. T ZHAER . 30 9Ty fh.am. Y 60 fram @ 3 3. 40 wia. fram $r 90 fFam S

¥F @y fAdrar &1 s B0 & 98 9 o & a9 & 39 20% & o @y

A shopkeeper mixes 60 kg of sugar worth Rs. 30 per kg with 90 kg of sugar worth Rs. 40 per
kg. At what rate he must sell the mixture to gain 20%?

(a) ®./Rs. 30 9 .30 /per kg (b) ¥./Rs. 34 9fa F.aM./per kg
(¢) T./Rs. 43.2 ufy .. /per kg (d) T./Rs. 38 ufax F.arm./per kg

11



110. T FAH A 16 o1 & ad %7 50.25 fFam & a2 99 8 omEt &1 45.15 . am )
Forg & it ol & 3T 3R | &L

The average weight of 16 students in a class is 50.25 kg, and that of the remaining 8 students
is 45.15 kg. Find the average weight of all the students in the class.

(a) 34.56 ™R3 /per kg (b) 56.23 &.am./per kg
(c) 48.55 . am./per kg (d) 31.44 fF.M.iper kg

1|1.wamﬁzﬁma?ﬁ?r3ﬁm5103mf§a=uﬁmﬁ?ﬁﬁ24oanigmaﬂ?’r?l
30 Rt & el Ag 7 Sy gesna WEr @ o6l @, vioRe dlwa sweiget & wer
AT H)

A museum has an average of 510 visitors on Sunday and 240 on other days. Find the average
number of visitors per day in a month of 30 days beginning with a Sunday.

(a) 285 (b) 275 (c) 237 (d) 245

112.%.7500 &7 6% H X ¥ 2 ¥ F T Twgefd =are dfed Fa afr F=r e
What will be the total amount for Rs.7500 with C.1. interest of 6% rate for 2 years?
(a) ®./Rs. 8427  (b) T./Rs. 8417 (c) ®./Rs. 8400 (d) ®./Rs. 8390

113. 2Y GEABi T d°gdsd FAES (TTHTA) 8919 & auT 38a 13 1000 ¥ 2t e &
The LCM of two numbers is 8219, and their sum is 1000. The two numbers are:

a. 993 d¥land 7 (b) 989 duT/and 11
{c) 991 FAT/and 9 (d) 987 duv/and 13

114. faet asf & %.10000 F7 THgEfd =ara 10% H W F 3. 2100 gy ST
In how many years the compound interest on Rs, 10000 at the rate of 10% will be Rs, 2100 7

(a) 1.5 HTe/years (b) 2 TTel/years (c) 2.5 Arctiyears (d} 3 ATd/years

115. fawma aur A et o 1 & 6 At 7 U = g §) A Rew s 39
F 10 BAT 7 qT T FHEAT §, AN AEA 3hA W FH A s @& F v R wea
27

Vikas and Mohan working together can complete a work in 6 days. If Vikas alone completes
the same work in 10 days. in how many days Mohan alone can complete the same work?

(a) 13 R=T/days (b) 14 R@a/days (c) 15 f&=1days (d) 16 *a/days

116, e ........... 7 ofaT 7o ¢
Tripitakas are sacred books of
(a) stet/Buddhists (b) g/Hindus
(c) S=T/Jains (d) 39dFd A & FE F&/None of the above
117. O AA ......c..... ¥ FaOT I

Todar Mal was associated with

(a) H¥M&/music (b) TfE literature (c) f&/finance (d) Rftvlaw

12



118. AR REHER i@ # § &a v & foe f&ar s @
For which of the following disciplines is Nobel Prize awarded?
(a) SIfEFr T TWEA/Physics and Chemistry
(b) eiRfRTT AF= ar fAfFcar/Physiology or Medicine
(c) ofge, aifar aur 3denea/Literature, Peace and Economics
(d) 397 ALl of the above

119. TR a8 A g, 3w ... FT HeggT e svar gl

Entomology is the science that studies

(a) AFa % =¥agR/Behavior of human beings
(b) #re/nsects
(c) awarehr T &efaw el fr 3eafy vd sfagw

The origin and history of technical and scientific terms
(d) TgerAr &1 f@HATU/ The formation of rocks

120. 9T ¥ R RAFa & 3ur e F A R g st 9g .. @ R
T g

The words 'Satyameva Jayate' inscribed below the base plate of the emblem of India are taken
from

(a) ®eRE/Rigveda (b) UATY FTEACT/Satpath Brahmana
{(c) 33,33? 39faNg/Mundak Upanishad (d) TFMYT/Ramayana

121, ARG F PR vodt # ¥ frw Tow F AF Rl AuEr e

‘Madhubani', a style of folk paintings, is popular in which of the following state in India?

(a) 3A¢ w&AUttar Pradesh (b) ITEYT=/Rajasthan
(c) AT w&A/Madhya Pradesh (d) feg/Bihar
122. SR T & wad el g, ool Fraad, e # 3l

The southernmost point of peninsular India, that is, Kanyakumari, is
(a) % @ % IW/north of Tropic of Cancer
(b) $FEI@T & Ef@UIsouth of the Equator
{c) AT @r & giEousouth of the Capricomn
(d) sFeay@En F 3aUnorth of the Equator

123, EREE @I & drg fr dmr g
The Radcliffe line is a boundary between
(a) T T arfRTar/India and Pakistan
(b) ¥R T W=A/India and China
(c) #RT T FAFANIndia and Myanmar
(d) ARG T FFNTAETRIndia and Afghanistan
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124. ¥A & 8 TT 61 FaW gt o AT ¢

The state having a largest area of forest cover in India is

(a) 3FOTE We2A/Arunachal Pradesh (b) gRTMOM/Haryana
(c) AT w¢AMadhya Pradesh (d) 3¥FA/Assam
125. 4o AT ...oocovene HT FYUROT ATH )

Washing soda is the common name for

(a) TfFIA FEfAc/Sodium carbonate

(b) FewA argFEiae/Calcium bicarbonate
(c) TR agFEie/Sodium bicarbonate
(d) Ffeermwm FEfAz/Calcium carbonate

126. TSTHHT &F FEET ........... @R gafaa e o #)
The members of the Rajya Sabha are elected by

(a) SecT'the people

(b) W% WHMLok Sabha

(c) faemaasm & faaifaa GeT/elected members of the legislative assembly
(d) faemar aftwg & faifaa @eTaielected members of the legislative council

127. WEREIT & WS ....... ast & fav AafRa aa &
The members of Lok Sabha hold office for a term of

(a) 4 A1cA’years (b) 5 Arel/years {c) 6 Hid/years (d) 3 @ d/years

128. @' wamr & fodraa Aegar ¥ FgAGH A ... &l

The minimum age to qualify for election to the Lok Sabha is
(a) 25 ArcdA/years (b) 21 Arddiyears (c) 18 Aid/years (d) 35 Oid/years

129. WfATF Samer ....... & g gl
The Qlympic flame symbolizes.....
(a) T UF qUAw Wil & @ FATARANContinuity between new and ancient games
(b) AET SaearHuman Spirit
(c) AT FAgcaraial/Human Ambition
(d) 3T & ¥ FF A/None of the above

130. IUCN & =1 fima &
What does IUCN stands for?

(a) ST YAYA BT oAt JHiE AW
International Union for conservation of nature

(b) SETNUAA ATt BN Fraayl IHF dAldcoa Jfedwey
Intermational Union for conservation of Nocturnal Animals

(c) ST FIATeT B Feorde 3iF dAoqea Rerfa
International Union for conservation of Natural Resources

(d) 3‘1’?&' H & #1% E/None of the above
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131. 3E & TAA HETET Tl &2
Who is the current ISRO chairman?
(a) SiY ATHA AT9U'G. Madhavan Nair (b) & @K, Sivan
(c) TH ®HATWS. Somanath (d) &= d@rA|/Tessy Thomas

132. PT-T 75 GF H NEAT = F 3FTR FAT v

Which planet takes maximum time to revolve around Sun?

(a) afA/Saturn (b) ¥F/Venus (¢) geEarth (d) HIA/Mars

133. LED & qUT &9 &7 &7
What is the full form of LED?

(a) oge UiAEFEar sE/Light Emitting Diode

(b) say ufAefésr smmgia/Laser Emitting Dynatron
(c) A= TAFeZ 3E/Lens Enabled Diode

(d) @3¢ vANSS sM@Is/Light Embedded Diode

134. ZEQ &7 “yifey B . ¥ yvaad F AT &
“Aditya Mission” is [ISRQ’s mission to study.....

(a) T&/Moon (b) FA/Sun (c) YF/Venus (d) gEVEarth

135. T T RFFAR IFas RREdr 9T 82
Book ‘Train to Pakistan® was written by.....7
(a) GrEd fHg/Khushwant Singh
(b) AAEX T8E/Namvar Singh
(¢) HF NaH/Amrita Pritam
(d) 394Fa & § F1E FE/None of the above

Cryogenic engines are used in.....

(a) R eTTANT/ Agricultural Applications

(b) e wiggifhRocket technology

(c) Ff¥emr sEToE/Medical Applications

(d) T e H?:I,'WT/’T' ele Education Applications

Operation flood is related to production of.....7
(a) g7 g 378 3earg/Milk & dairy Products
(b) T TF ‘g'\'@?f Sd/Clean and Safe Water
(c) oRa & adrg ag T/ Safety of Costal cities in India
(d) 394Fd # & ¢ A¢/None of the above
15



138. f&eT v3d RGaw & AFT S B?
The World AIDS Day is celebrated on
(a) f&Hat/December | (b) feHEt/December 11
(¢) feTa/December 21 (d) f&H=/December 31

139. FA-Hr Teh H FEERE 94T AT 87
In which vegetable phosphorous is found?
{a) =I=1/Onion (b) 3Tef/Potato
(c) TATCT/Tomato (d) msR/Carrot
140. 7T & Wiy $r sare & ifaw sftw i §
Who is the final authority to interpret the constitution of India?
(a) Wafea =maraa/Supreme Court
(b) ¥Ra & Useafd/President of India
(c) fatmer aRwe/Legislative Council
(d) ¥Ra F 39-Tegafad/Vice President of India

141. AN TSg easr & diE T @S F A ... B
The ratio of width of our National flag to its length is

(a) 3:5 (b) 2:3 (c) 2:4 (d) 34
142, ARAY AENT T H WG WA ACH TR ..., ¥ zaw for aar

"Natya - Shastra’ the main source of India's classical dances was written by

(a) R AfA/Nara Muni (b) 31%d AfA/Bharat Muni
(c) Hfe=F red/Abhinav Gupt (d) g AA/Tandu Muni

143, q¥dr 3O &7 A ... e &l

The earth rotates on its axis from?

(a) 9RTA ¥ g&/West to east (b) 98 ¥ 9fRa#/East to West
(c) 38T ¥ Zf&oNorth to south (d) Ef&or & 3a¥South to North

144. TS F TR AT HETA ........ & |ry g gam

Ghandhiji’s Civil Disobedience movement started with

(a) 51 Hlefel B AsHT/Breaking Salt Law

(b) widha FfOF=d $r dgs/Breaking Provincial Act
(c) fFE & FIefaA/Farmer’s Tax Law

(d) 3¥TEEET HEA/Non-cooperation Movement

The famous Ramcharitmanas was composed by
(a) TEHT Jorier/Swami Tulsidas (b) &Y YEA/Swami Raidas
(c) #&EMY arestfdF/Maharshi Valmiki (d) 3"T§Tﬁr H & ;g Ag1/None of the above
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146. WrATT e &F A7 ¥ S I E

............. is known as the *Frontier Gandhi’

(a) WTeT Jeqel MFHR Wlel/Khan Abdul Gaffar Khan
(b) FR¥aT ath/Feeroz Gandhi

(c) s #ger amti/Hari Mohan Gandhi

(d) TER Teasidg gea/Sardar Vallabhbhai Patel

147. AT gea # fas aread &7
How many valves are found in Human Heart?
(a) &/Two (b) NA/Three (c) UH/One (d) ¥/Four

148. ARSI ~IT F AL Fgl &2
Where is the headquarter of International Court of Justice?

(a) §9'Hague (b) ST Jakarta (c) =4t/ Tokyo (d) fag#/Sydney

149, T A AT & 1 F41 §?
What is the name of oldest Veda?

(a) FFIE/Rig-Veda (b) Fde/Yajur-Veda
(c) WHAE/Sam-Veda (d) 394dE/Atharva-Veda

150. feg & @@ Bler Agiedd FiA-91 §7
Which one is the smallest continent of world?
(a) FEefeRT/Australia (b) 3ETHiEH/Antarctica
(c) AT ¥FOFI/North America (d) f&oT 3AOF/South America

HIT 3 - WA qefY U9 a&
PART D : GENERAL INTELLIGENCE & REASONING

151, 3r3afEera (AT} ueg g~ &7Rier ; %ehgr : - Aifornfae -

Find the missing word-Tuberculosis : Lungs : : Cataract : ?
(a) HT@Eye {b} &e/Ear (c) %3/Throat {d) @=1/Skin

152. e} & Aeafaf@a a2 & o #9 3o wE § @& fta i

Which of the following pairs of words are differently related?

(a) Kind : Cruel {b) Slow : Sluggish
{c) Stale : Fresh (d) Truth: Lie
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153. AT AT U Aes aRg Oer @earer Udr 10:45 1 WA w@rdr &1 39 & 100 ¢
qE Tg 99 T FHT e
Suppose a standard twelve-hour clock now shows a time of 10:45. What time will the
clock show 100 hours from now

(a) 6:45 (b) 8:45 (c) 2:45 (d) 10:45

154, af% fordlt weam & v fags & 16 Ser Sirar @, o swear aRonA 3@ wEar # e
& Sar B wEar Sl B
If 16 is added to one-third of a number, the result is three times the number. What is the
number?

(a) 4 (b) 6 (c) 2 (dy 3

155. 51 & T Zrer e E, & 3% uw e A onar 1 Y & e Ueds edied
U gAY @ U aR g Aerar }1 A 539 15 §) FA A Traa cafea £

When two people shake hands with one another, that counts as one “handshake”. Every

person in a room shakes hands with each other in the room exactly once. There are a total of
15 “handshakes”. How many people are in the room?

(a)5 (b) 6 (c) 4 (dy 7
156. farafaf@a fwedt # ¥ Fia. e v ¥ & gdor vfafa & ae@ w9

Choose the alternative which closely resembles the mirror image of the given combination.
(a) 1 (b) 2 (c) 3 (d) 4

1965 | NDOPAK
(1) HAQOQUize9st (2) SAX I WQOteac
(3} dAqoquiceat (4) AAQOQU I 28et

157. Prafaf@a veut & | ST gyEnly : Fehor Sor J9 @
Which of the following exhibits similar relation as that of PASTORAL : RURAL
(a) FETIA : ogd/metropolitan: urban
(b) fAeTe : ARsleepy: nocturnal
(c) B8« : AWE/harvest: autumn
(d) F A Haer: FaFr/agrarian: benevolent

158. AT 39 3@ orEt A dEg T 6T & aN F Fo JIAw & g

The Venn diagram below shows some information about the height and gender of students.

Female
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ARTOH ¥ & UF OF $ 919 & 0 §| 39 o7 & aAfger vd 1.2 F d= g
Hr wi¥epar 7a FY

A student is chosen at random. Find the probability that the student is female given that they
are over 1.2m.

(a) 17/34 {b} 9/20 (c) 9/34 (dy 17/28

159. 50 @il @ qo7 =47 & F i@ A TF A0 § Aqr A4 18 AT Hiw A A 23 7w o
T A| 6 T A FE AT A FH I & IN@ F A O IRoF T F I
av R safda 1 wrfdsar A #Y S W9 @ W A S9E a8 v g

50 people are asked whether they have been to France or Spain. I8 people have been to
France. 23 people have been to Spain. 6 people have been to both. By representing this
information on a Venn diagram, find the probability that a person chosen at random has not
been to Spain or France,

Spain France

(a)3/50 (b) 15/50 {c) 32/50 (dy 27/50

160. #Fw 40 AN ¥ qoar § 7 0 IAF TH vF Reeh a1 T g7 17 S & 9w Fan g
14 @9 & 9E U faes @ AW 7 W9 & 9 oF Red W v g g Re oaw aw
I # A T F AT F, Owd s wdh W ¥ g =

Max asks 40 people whether they own a cat or a dog. 17 people own a dog, 14 people own a
cat and 7 people own a cat and a dog. Choose the correct representation of this information
on a Venn diagram.

(@)
Cat Dog
2
(b)
Cat Dog |
16
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(<)

Cat Dog
16
(d)
Cat Dog
9

6lLABRNGEAHNCBRFALTD CHFRATEE DR AR VA v D & F0r
freaT &7
A is B's sister. C is B's mother. D is C's father. E is D's mother. Then, how is A related to D?
(a) ETET AT AT/ Grandfather (b) EEY AT ATN/Grandmother
(c) S&/Daughter (d) OR = arfd|a/Granddaughter

162. wesT e & T+ 9T &7 3T

What will come at the place of question mark?
CO3KP, DO4KQ, EOSKR, FO6KS, ?

(ay GOTKP (b) GOJKT (c) GO6KP (d) GO6KT

les.mﬁmaﬁzaa:mwmaﬂrﬁwmﬁl

Find the number in the series at the place of question mark.
1,4,2,8,6,24,22, 88,7

(a) 86 (b) 352 (c) 90 (dy 154

164, HEeT F wead Reet & U W AT FEA Ad B
Find the number in the series at the place of question mark.
86 XW 68, 85 UT 58, 84 RQ 48, 7, 82 LK 28

(a) 83 NO 38 (b) 83 PO 38 (c) 83 ON 38 (d) 83 RP 38
20



165. 30X Pt & & 3RT wFfy = T FY, I T Rew F wfawnd swm

Select a suitable figure from the Answer Figures that would replace the question mark (?).

Problem Figures: Answer Figures:
NN I
Sl NOED!
@ @B © O n @ ¢ o
(a) 1 (b) 2 (c) 3 (d) 4

166. 1 FeTad, 2006 ' WAGR ATl | FAS, 2010 g B FiA-A7 v 24w
It was a Sunday on Jan 1, 2006. What was the day of the week on Jan 1, 2010?

(a) I@aR/Sunday (b) ufeaR/Saturday
(c) yFa/Friday (d) g9at/Wednesday

167. 3a Fpfeat # @ 3T wgpfa &1 gara &, 3 T Rew F siefa s

Select a suitable figure from the Answer Figures that would replace the question mark (?).

€y V|2 NSRRI

(A) (B} © (D) (1 2 & @
Problem Figures: Answer Figures:
(@)1 (b} 2 {c) 3 (d) 4

168. 3T ypfadt 7 & 3faa Il F I *, Sy FRea & afaenia s

Select a suitable figure from the Answer Figures that would replace the question mark (7).

Q> 2] DI 2

A (B € D n @ 3 @
Problem Figures: Answer Figures:
(a)1 (b) 2 (c) 3 (d) 4

169. 30 3NFHA H gga= L 3 Ru 71w def a7 doar
Identify the figure that completes the pattern.

(a)1 (b) 2 (c) 3 (d) 4
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170-177 weat & faw: A9 R v fagent & ¥ P,Q, RAWS & 0 # daw v a9 &
e wa A W Al B TW THR gty #Y, afF YT v I a9 7w

For questions 170-177: Rearrange all the jumbled parts of a sentence which are labelled P, Q,
R and S to produce a meaningful single sentence and choose the proper sequence from the
given options.

170. Since the beginning of history

N Weolk-

have managed to catch

the Eskimos and Red Indians

by a very difficult method

a few specimens of this aquatic animal

The Proper sequence should be:

(a) QRPS {b) SQPR {c) SQRP

171. A French woman

TN Vel

committed suicide

where she had put up

who had come to Calcutta

by jumping from the first floor balcony of the hotel

The Proper sequence should be:

(a)PRQS {b) QSRP {c) RPSQ

172. The grocer

RO

did not listen to the protests of customer
who was in the habit of weighing less
whom he had cheated

with great audacity

The Proper sequence should be:

(a) PRSQ (b) QSPR (¢) QPRS

173. When it began to rain suddenly on the first of January

wvilm o

to celebrate the new year

we ran for shelter

to the neighbouring house

where many people had gathered

The Proper sequence should be:
{a) QRPS (b) PSQR (c) PRSQ
174. As a discase

weO T

and breaks up marriages
accidents and suicides
alcoholism leads to
affecting all ages

The Proper sequence should be:

(a)

SRPQ (b) RPSQ (c) SRQP

(d) QPSR

(d) SRQP

(d) PQSR

(d) QRSP

(d) RQPS
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175. There was

P : needed for its everyday life
Q :a time when each family

R :for itself most of the things it
S : actually produced

The Proper sequence should be:

(a) QRSP (b} RQPS (¢) RSPQ (d) QSRP
176. Though he dialed frequently

P: on telephone

Q: my brother could not contact me

R: and had left no information

S: as T had gone out of office

The Proper sequence should be:
(a) QPRS (b) SQRP {c) QPSR (d) SPQR
177. All such students

P:  getsuccess

Q:  who are honest and hard-working
R: and recognition
S:  inevery walk of life

The Proper sequence should be:
(a) SPRQ (b) PRQS (c) QPRS (d) PSRQ

178. farafaf@a geuf 7 @ #ia Rreolt : FowR shar gay war
Which of the following exhibits similar relation as that of SYMPHONY : COMPOSER

(a) asT:SWR/rain : flood (b) w3 : faailight : switch
(c) 39T : {AR/novel : author (d) 39 : Ffra/song : music
179.9rer @ 2 feufaar i g o€ &

Two positions of a dice are show below:

. /.

& I (3) fagY FUR a8 & €, aF Y F aw & feaeh fage gt

When three (3) dots are at the top, how many will be at the bottom?
(a) 1 (b) 2 (c) 4 d) 5
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180. 8,28, 116, 584, ...... 5[@T A Jaialell JTen HEAT|
The number comes after the series 8, 28, 116, 584, ... —

(a) 3504 (b) 3508 (c) 3509
18]. frafAfld weet #1 3yt F7 & swafiyad w1

Arrange the following words in a meaningful sequence —

1. g&/Sun

2. @9/Rain

3. g=g/Child

4. sga/Rainbow
5. @A Happy

(a) 2,1,4,3,5 (b)
(c) 2,1,3,4,5 (d

(d) 3507

182, F4aT; 9§ GeT faam e & o a=d Y 47 & 37 H T Fow e

Statement: It is suggested to put a child in school at the age of 4.

GAURTW Assumptions:
i) Ther4 a¥ FT WY F qg TG F AT AT &

Schootls do not admit children after the age of 4.

i) 38 3 #. = A% At B drEa F Qe qIR gl

At this age, the child is ready to learn new things.

{(a) ql?ﬂ'lTUTT I |8 &/Assumption 1 is true.
(b) GEUROT 2 G EAssumption 2 is true.

(c) TEuRom 1 3R 2 WE FBoth assumptions | and 2 are true.

(d) TEuRom | AR 2 A4 & AL E/Neither assumption 1 true nor assumption 2 true.
183. 319 08.30 a=f W &, O of & ©¢ g A fr g4 & 99 = A7 . F

The angle between the minute hand and the hour hand of a clock when the time is 08.30, is:

(a) 80° )b) 75° () 60°

184.38 i H ggaw F S R A0 Yo W HA S5 §
Identify the figure that completes the pattern.

-~

(X) (hH (2) (3)
@) | (b 2 (c) 3

(dy 105°

4
(d) 4
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185. 37 mpfa i ggam w3t BU v et o wdr doar ¥
Identify the figure that completes the pattern.

] @D @ &

(X) (1) (2) (3) 4)
(a) 1 (b) 2 (c) 3 (d) 4
A IO (186-189) A & 1 g W IR ¥ :

Each of these questions (186-189) are based on the information given below:

8egf@dd E,F, G, H, 1, J,K @ L U% QiR &ad & ot 3N &5 ¥ - v aed & )
AR 3 AT § S tE-gE & Imware AE & §)

I, L3RF¥ & &

G, 13RF& fg g

H, o #Afgel @eEg, ] & a8 37 gl de @« §

F, @& 789 WeEy, ARG §e9 E & @A &5 §)

F 3R | & &g v #Afgar gewa #)

8 persons E, F, G, H, I, J, K and L are seated around a square table - two on each side.
There are 3 ladies who are not seated next to each other.

J is between L and F.

G is between I and F.

H, a lady member is second to the left of J.

F, a male member is seated opposite to E, a lady member.
There is a lady member between F and 1.

186.Tffla A A #F F & &% o ik &2

Who among the following is to the immediate left of F ?
(@ G (b) 1 (©] (d H
187.K IRF & &7 fFaa <afea & &

How many persons are seated between K and F ?
(@ 1 (b) 2 (©) 3 (d) 4
188. fIfaf@a # & I Afger agwy Hia &2

Who among the following are three lady members?
(a) E,Handl (b) E,LFand G (c) EEHand G (d) C,HandJ
189. fAAAa # ¥ E 3H & diw sl & &7
Who among the following is seated between E and H ?

(a) F (b} 1
(¢} K (d) frdifia s/€ fFar ST EeRar/Cannot be determined
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190. 200 s & & 90 W7 W wHe FIA §, TA 108 T HE THE S § AN 46 W
T 3T S Ot quEg A & H ¥ e @ 3w 3 S QA ol A8
&7
Among 200 persons, 90 people like tea while 108 like coffee and 46 people like both tea and
coffee. How many persons don’t like either tea or coffee?

(2) 46 (b) 44 (c) 48 (d) 62

191, Frfaf@a veaf & ¥ Fia g : vyt & H A9 T G @
Which of the following exhibits similar relation as that of COW : HERD
(a) O : &Wgrass : green (b) s=ar: 9R@R/child : family
(c) 31T ST/bald : hair (d) ©YsT: FHER/horse : jockey

192, frfaf@a veat & @ Sl eiaet : v ST H@EY 1@ 72
Which of the foliowing exhibits similar relation as that of DOCTOR : DISEASE

(a) gferEarer - H9Tt/policeman : criminal

(b) Za fafrcas : f3d/dentist : drill

(c) Tifaw : aTaes aehpolitician : electorate
(d) 3ItTUSF ; FATHAAteacher : ignorance

193. af> SUMMER # RUNNER & &9 @ifeq f&ar Atar &, &f WINTER &I &3 ........ gl
1If SUMMER is coded RUNNER then the code for WINTER is

(a) SUITER (b) VIOUER (c) WALKER (dy SUFFER

194, afy ‘weafa & feke, ‘Bibe A ahedier, a¥dcae A CdsfAcT, CET o
Fr ardraie, ‘dieiater FFER qUT R F Aew’ FEl T §, o Aefaf@a #
¥ Fia-ar A g & 3G F AL QAT AT 8?
If ‘football’ is called ‘cricket’, ‘cricket’ is called ‘basketball’, ‘basketball’ is called

‘badminton’ ‘badminton’ is called ‘volleyball’, ‘volleyball’ is called ‘hockey’ and
‘hockey’ is called ‘golf”, which of the following games is not played using a ball ?

(a) dielaTe/Volleyball (b) aTEFediea/Basketball
(c) gd/Hockey (d) Thhe/Cricket

195. i & gls & ST wew a4 o & i AfSrTar @ e 2

Marathon is to race as hibernation is to —

(a) WE/winter (b) #HrsA/summer (c) MAal/sleep (d) #e}/bear

196. frafaf@a wedt # YUY Fa 7 gafeyd Sl
Arrange the following words in a meaningful sequence -
1. glen/Plant

2. d151/Seed

3. 374 g3 3eT/Dough
4, UéY/Bread

5. 3=S1/Grain

(a) 2, l, 5, 3,4 (b) 3, 2, l, 4, 5 (C) 2; ls3s 4; 5 (d) 41 Sa 1,3.2
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197. U PR SFcX T4 WA &, & 3 strex A8 a=9ay TR
Statement: If it is easy to become a doctor, I don't want to be a doctor.

TAYROT/Assumptions:

i) 3t AeET ST AEAATEE $/A candidate wants to be professional.
ii) 9 VU NS AT I aar §, T AgAd @ & Wy AT o TR
One wants to achieve a thing which is hard-earned.
(a) YAUROW | FE &/Assumption 1 is true.
(b) gAUROT 2 W R/Assumption 2 is true,
(c) TEumom 13 2 W #/Both assumptions 1 and 2 are true.
(d) TEURET | MR 2 2 G 7 #/Neither assumption 1 true nor assumption 2 true.

198. 3,7, 15,31, 63, .. 4@ & HAAT 39Tl HEAT & Tar 7G|
Find the next number in the series 3, 7, 15, 31, 63, ...

(a) 92 (b)y 127 (c) 117 (d) 115

199. s@em # e REt & e W 3T §@A A w1

Find the number in the series at the place of question mark
6, 11,21, 36,56, 7

(a) 41 {b) 61 (c) 81 (d) 51

200. A fou oiF iy uR Rufami & @, 9 &1 & AN I a9 F 7 F 94T 9

From the four positions of a dice given below, find the color which is opposite to yellow?

Tellow Orang Blue Red
E E; 2 E
Orange{ @ Yiglet | @ Red | 2 Rose |

(a) d9=it/Violet (by &rel/Red
{c) Ieme/Rose (d) Nar/Blue

FhdkhhhikdRkkhkdekhhkhhhrbkhkikdhkihhhkrtii
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